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1.2 Parabolas — An AQ(grebrealc Pook

2
A quadratic function is a function that can be represented by the equation 3203( Yox+C .

N
The graph of quadratic functions are WMWUL : Sxandard Frm

Use the equation ¥ =

{(x - d} when: Jou ave 8|Veh the x—m-}crcepﬂ
and one ofthe X-itercepts 1sthe origin (0,0)
Oy = x (x-2
i\ 0= X (x-2)
Pet’s Practice: _
X=0 X=2

1) Find an equation of the graph of a quadratic function that:
(o, O)Iand (5, 0) and passes through the point (-3, 10)

e

A) Crosses the x-axis a

y=ax (x-d) l =7 (x-5)
D= a(—%\(-a"?) j 2
10=a(-3)-8) J
B) Cros'sgs=thze:‘(gixi.s.ad (-3, 0) and passes through the point (2, -g)
=ax(x -d ) _'i z
== x+3
-‘Zm(o\u.ﬂa) j 2?x( )
~6=ta

) Cross%sftche x-axis at (0, 0) and (-1, 0) and passes through the point (-3, 8).

2) Which of the following points lie on the parabola y = -3x(x - 4)?

A) (0,-4)
B) (0,0)
0 (-1,9)
D) (0,4)
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1.5 Craphing Quadratic Functions

What do you remember about the Standard Form of a quadratic funct10n7 J _-MX t bX"’C,

a: -Faomﬁ upldown & width (W\de or MYrM
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. 3-\Mﬂr (0,8) b ‘ # ok x-\ntercepts:
_=b < x-value Wi
Axis O-FQ mel'nj X= )i;vmw* % NONE
Pet’s Practice:
1. Graphy=2x%2-8x+7. 2. Graphy = -3x2- 6x. ‘(\(
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